WARM-UP and NOTES for 6.2 Soh Cah Toa
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Trigonometry Ratios: sine, cosine, tangent, cotangent, secant, cosecant
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Special Triangles

30°-60°- 90

45°- 45°-90°




Use your special triangles to complete chart:
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cos 0 tan 6 csc O
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sec 30° = csc

fan SI}D = cot
tan45 = cot
tan 60° = cot
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sec 60 = csc

Note: sin30° = cos GD
sin45 =cos 4 50
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sin 60 = cos




Check answers using this chart...or see textbook
page 483 or ebook 6.2 “special triangles.”

fin @ in sin @ cos @ tan @ csc sec cot @
degrees radians
30° z 1 V3 V3 2 2+/3 V3
6 2 2 '3 3
45° 8 V2 V2 1 V2 V2 1
4 2 2
60° il V3 1 V3 2v/3 2 V3
3 2 2 o '8
Note: sin30° =cos 60° tan 30" = cot 60° sec 30" =csc 60°
sin45° =cos 45° tan 45" =cot 49° sec 45 =csc 45°
sin60° =cos 30° tan 60" = cot 30° sec 60 = csc 30°
S0 =Cos QY T SeclS=csc15
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6.2 #28 Sketch a triangle that has acute
angle 6 and find the other 5 trig ratios of 0.
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6.2 #38 Solve the right triangle. (Find all
missing sides and angles.)
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